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Political Science
Paper II

Tt feormm
gyarent 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A YIAUCThd THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)
U TR, |E TR Hiedl

1. The policy of apartheid chiefly | 1. H& JUEHE R0 HE ARRT 2

denies :

(A) TSI FHAT
(A) Political equality

(B) QYR THdT
(B) Legal equality

(C) HHIfSIeh FHaT
(C) Social equality
(D) oTfeer o
(D) Economic equality

9. The ‘three-dimensional’ account of | 2. ¥Fu= Tt Wweq wivit wieet ?

power was given by :
(A) T gy
(A) Steven Lukes

(B) Robert Dahl (B) T2 e®Bd
(C) Peter Bachrach and Morton (C) T STEE .

Baratz

(D) Michel Foucault (D) oo weh!

3 [P.T.O.



The traditional concept of justice is

based upon :

(A) Social

(B) Political

(C) Ethical

(D) Material or economic

Marx’s concept of justice demands :
(a) State regulated justice

(b) Abolition of class structure
(¢) Making of just laws

(d) Placing means of production

under state control
Codes :
(A) (@), (c) and (d)
(B) (a), (), (c) and (d)
(C) (c¢) and (d)
(D) () and (d)
Who is the author of ‘The Rights of

Men’ ?

(A) Edmund Burke
(B) Thomas Paine
(C) John Locke
(D) T. H. Green
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W =T Gheqqdd] IM™T hIvTd]

Cir

(A) TS

(B) TS/&hia

(C) e

(D) oifqw ferar smfdia

qeRd=l =AAT= HahoUad i 31140d
g ?

(@) UM fafa s =

(b) o TEEET BE

(c) == wEearl fAfddt

(d) ST FEAHT Tsar=A1 FE=omaet
S

Hehdiah :

(A) (), (c) 31 (d)
B) (@), ®), (¢) = (d)
(C) (c) 3Tf0T (d)

(D) (b) 30T (d)

‘T M R T AT e TEw FI
;e ?

(A) TSHS o

(B) om\9 oA

(C) S <k

(D) & . A




Match the List I with List II and

select the correct answer from the

codes :

List I
(@) Carolyn Merchant
(b) German Greens
(¢) Humanist Ecologism
(d) Ecosocialism

List II

(1) Supports biometric equality and
upholds animal rights parallel
to humans

(2) Explains environment
destruction in terms of
capitalism’s rapacious quest

for profits

(3) Highlighted links between
gender oppression and the

death of nature
(4) Think globally, act locally
Codes :
(@ ®) @ (@
A @ @O Q) (@)
B 3 @ @ @
< 2 & O @
D @ @O @) 3
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St 13 At 1T SJezan STIfor Teha el

Iy IR Haer

(@)
®)
(c)
d)

(1)

2)

3)

(4)

qrar 1
FUAAH T
S W

Ae] qigftedrg
ERICIEIRISE IS CI

et 11

AR THMAET Tfe ST Hre
TERRIGATO IO kil EHelA

TR <8 WiSade =l 3T
THRITT BISATET=A] HeYid TUse
Hdl.

feqT sreTeres <H 3Tifor fAemi= |

AT Tees MEREd shadl

W o

dfvaes fo=mr, Tt &dl

- -
.
.

(@ B © @

A @ @O @) @

B B3 @ @ @

© @ & @O @

M @ @O @) O)
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Which theory of rights best explains

its nature ?

(A) Social welfare theory

(B) Theory of natural rights
(C) Historical theory of rights
(D) Legal theory

Rousseau favoured :

(A) Representative democracy
(B) Indirect democracy

(C) Direct democracy

(D) Mixed democracy

The Lockean conception of social
contract contributed to the classical
theory of democracy. Which of the
following statements is not

democratic according to Locke ?

(A) The basis of political power was
the consent of the people

(B) People were real sovereign

(C) Constitutional but absolute

government

(D) Government not protector of

individual’s rights
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SRl ShIVAT THgId & 9T &%

e w7

(A) AT SRRl g
(B) wwfifer worhr=n fogm

(C) Uferiesr gmrn g
(D) =R fagia

®HM wIME GHLT hel ?

(A) widaffees dehsmer

(B) 3T9AY AIHIME]

(C) Wcael Tishemmel

(D) wfhsr cemmel

cifch o] HHISTh iR Hehed- TehIEIl

stfvsita fagiam @ fad e,

Tt IV faeM dfehe Fargar

ARIMEE AR 2

(A) TSTEET G B ARiEl WA B
e

(B) @k &9 TR gEdm

(C) TATHS: YUl A I

(D) TR Alhi=aT BFhId HI&TH

THd




10.

11.

Conservative ideology believes

that :
(@) Human rationality is unreliable

(b) Moral corruption is implicit in

each human individual

(¢) Human beings have limited

intellect

(d) Reform and revolution often
lead to greater suffering rather

than less
Codes :
(A) (b) and (d)
(B) (@), (®), (¢) and (d)
(C) (®), (¢) and (d)
(D) (a) and (d)

.................... is not a fundamental

(A) Right to Life
(B) Right Against Exploitation
(C) Right to Property

(D) Right to Equality

10.

11.
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WRER! TRy o
(@) WrFel fooes B S9TeRmEn STEd

(b) Afds gs=d1 gd® HHEAl HeKd
Iqaa

(c) WUEET gg1 FAlfcd T8

(d) GUROT A0 ShidiHes TeHa e
BASTUST BT

Hehdlah :

(A) (b) 3T (d)

(B) (@), (b), (c) 30T (d)
(C) (B), (c) iU (d)

D) (@) U (d)

[P.T.O.



12.

13.

14.

15.

Which one of the following is not an

inter-state dispute ?
(A) Dispute over Chandigarh
(B) Cauvery water dispute

(C) Maharashtra—Karnataka border
dispute
(D) Gorkhaland

Two members of which community

are nominated by the President to
Lok Sabha ?

(A) Tribal

(B) Minority

(C) Anglo-Indian
(D) Hindu

Article 348 (2) of the Constitution
deals with :

(A) Authorised language of the
High Court

(B) Language of the Parliament
(C) Medium of Instruction
(D) Language of the Supreme Court

Indian Constitution envisages a

(A) Quasi-Federal
(B) Federal

(C) Confederal
(D) Non-federal

12.

13.

14.

15.
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EATeTden! shivldT STasd foarern fam™

T ?

[

(A) <feTTe IRT=T 9K

(B) &l 51 foarg
(C) TR~ HHER
(D) TRETS

T TeAUeh! hiv FHRTAT G FREET
TARENT TCUA AT Shiard 2

(A) sfeerdt
(B) STTUEEA®
(C) sfai-sfem
D) fg

FAAT FAT 348 (2) A A &&=l
fo=amr 2ar

(A) S=a FICETE YTEehd  ATe
(B) HEQET o0

(C) e wiezm

(D) Faled =TI ToT




16.

17.

18.

19.

Public interest litigation became

popular during the tenure of ............ .
(A) dJustice P. N. Bhagwati

(B) dJustice Deepak Mishra

(C) dJustice Y. V. Chandrachud
(D) Justice P. B. Sawant

Which of the following Commissions

does not deal with riots in India ?
(A) Madan Commission

(B) Shrikrishna Commission

(C) Nanavati Commission

(D) Punchhi Commission

Which of the following is not a type
of party system ?

(A) Regional Party System
(B) One-Party System

(C) Two-Party System

(D) Multi-Party System

Who among the following is not the

Prime Minister of India ?
(A) Charan Singh

(B) Jagjivan Ram

(C) Chandra Shekhar
(D) H. D. Deve Gowda

16.

17.

18.

19.
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ShTdehledld TR ad Tl
(A) = . TH. Wedr
(B) 1. sruen fasm

(C) =N 9. . F5HE
(D) = . . |Ed

EATeTUeh! ShIvTdT SAENT YR SiTei=
A HId G ?

(A) HEA A

(B) #iFsu SN

(C) T =M

(D) 9B E

TTeiedeh] IVl 98 TS ThR
2

(A) IR 98 TgHd

(B) TsU& UGl

(C) fgu&r Ut

(D) 9gu&l Tl

WG] ShI0 TRATE Ta9e e 2
(A) =RoTfET

(B) STTSiteA M

(C) +SIE

(D) wa. €l <aie

[P.T.O.



20. Who among the following was

21.

India’s President for two consecutive
terms ?

(A) Gyani Zail Singh

(B) Pratibha Patil

(C) Rajendra Prasad

(D) APJ Abdul Kalam

Which of the following statements

are true ?

(@)

33% seats are reserved for

women MPs in Lok Sabha
The number of women MPs in
Lok Sabha has

consistently since 1952/First
Lok Sabha

)

increased

The number of women MPs in
Lok Sabha has
consistently since 1991/Tenth
Lok Sabha

(c)

increased

(d)

There are no reserved seats for

women in Lok Sabha
(@) and (b)
(b) and (c)
(¢) and (d)

(A)
(B)
(&)

(D) (a) and (d)
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AN o ~ ~ ~ a
20. @refieiyehl <hl0 HeTT QST HRATE el

21.

'ld ?

(A) T gt

(B) wiasm wrtet

(C) Teis FE

D) TS g FHAm

TTeAeieh! vt faem sRieR oTRd ?

AHITT 33% ST Al TEEH-

a a ~
dlol Rield SHled.

(@)

(b) 1952 =41 Ufgedl elREAITHA
ARG Ade Afgell TTHERI= He

T ded ATl 3R,

(¢) 1991 =41 TESAT TAIHHAUTHA

AR Ide Afgel WEERI=] Tl

Ay dled 3Telt ATel.

e CR = RINICCAM I HRCIC
S AR

(@) =TT (&)

(b) T (c)

(c) 30T (d)

(@) T (d)

(d)

(A)
(B)
()

(D)

10



22.

23.

Which of the following statements

is not true ?

(A) Women’s
sought to reserve 33% seats in
Lok Sabha and Rajya Sabha for

women

Reservation Bill

(B) Women’s Reservation Bill
sought to reserve 33% seats in
Lok Sabha and State Legislative

Assemblies for women

(C) Women’s Reservation Bill is

passed by the Rajya Sabha

(D) Women’s Reservation Bill is

never discussed in Lok Sabha

Which of the following is not a part
of India’s policy of economic

liberalisation ?

(A) Privatization of  public

enterprises

(B) Increasing the limit on Foreign

Direct Investment in Industry

(C) Increasing the limit of Foreign
Direct Investment in Defence

Sector

(D) Increasing the minimum limit

for taxable income

MAR - 15223/11—C

99. WUl HIUd faum 3md 3 ?

23.

(A) AieAHES= STRE faderRM weh-
[ U THEAAd 33% TS
ST AfgAre! TEia SavarEt YfHeht
et

(B) wfgen sRem fag=e™ areae
iy AT faurawiHed 33%

qEitel S Savar=i fent Hdal
(C) wfgen STR& fadres T=ga 9
Tl AR

(D) wfgen 3TRe fa8ghEer dAmadd
HEE ==l el ARl

EeATeTdeh] ShITTAT TS WRAT=AT 3R
IERT0T RO 9T AT ?

(A) SR SRTded SENT WISTTeh Ll

(B) SENTAeA 92 QR Jdavehi=t
ERIHECICCR

(C) &IV &ATe 92 QR ey et
TfET aTgen

(D) HA Scg=ret fewam #gafer

eI

11
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24.

25.

26.

The Planning Commission of India
published ‘India
Development Report 2011 : Towards

Human

Social Inclusion’. It studies :

(@) Relationship between Asset
Ownership and Poverty

(b) Condition and Challenges

regarding Nutrition
(c) Status of Child Labour
(d)
(A)
(B)
©)

(D)

Status of Irrigation Projects
(@), (¢), (d)

(@), (b), (d)

(@), (b), (c)

®), (), (d)

Which among the following is not

a social movement ?

(A) Chipko Movement

(B) Narmada Bachao Andolan
(C) Asom Gana Parishad

(D) Bandhua Mukti Morcha

Politburo is the highest decision
making body of ................ .

(A) Congress
(B) Bhartiya Janata Party
(C) CPI (M)
(D) Bahujan Samaj Party

24.

25.

26.

MAR - 15223/11—C

AT ST SN TR Sholed] ' 9
qHa foehd 3t@aTa 2011 : HHISR
FHEEYERE ¥R’ A1 e geld
M= 3 el 3R ¢

(@) WTEHGTE! AR ST STRGH ATA
YIERHIY

oo feordt & rEeHe e
SRS feerdt

STAHYRT Yehodret feerd

(a), (c), (d)

(@), (b), (d)

(@), (), ()

®), (), (d)

)
(c)

(d)
(A)
(B)
(©)
(D)

GTATeTIehT ShIUTT HTHTISToh Hoaaicd ATl 2

(A) TogeR! sTcIeH

(B) -Hel s=Tg STEeH
(C) T9H TUTYEE
(D) ST TRt Tl

(A) HIIH

(B) WRdM SHar dret

(C) TR e et
(D) wgSH §HNS e

12
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27. Which one of the following is not a | 27. WeUeh! IVl K=l MEH 2@
primordial identity of a person ? & ?
(A) Caste (A) Sd
(B) Religion (B) =
(C) Citizenship (C) R
(D) Language (D) em
28. The Rajya Sabha has exclusive | 28. TSI Wriiel Sedld S SATUhRE
jurisdiction in : e :
(A) Proclaiming emergency (A) STl Soom o
(B) Creation of states (B) T TS R
(C) Election of the Vice-President o
(C) UTSLIAr=ET TS Uh
(D) Authorising the Parliament to
legislate on a subject in the (D) |HA TSAHTAIT TETE TaoIre
State List FIIE] FAGUAS! Tehd vl
29. Which of the following Directive | 29. wciieiUsh] ShIvdT AFICIlh d<am=l GHEI
Principles of Poli o
rinciples of State Policy was added O
later to the Constitution ?
(A) Organisation of Village (A) T HERHIE T
Panch :
anchayats (B) Teder adt
(B) Prohibition of Cow Slaughter
. (C) HI%hd hTIQYI HEd
(C) Free Legal Aid
(D) Uniform Civil Code (D) FHF I ]
13 [P.T.O.



30.

31.

32.

33.

Which of the following lists is not

included in the Indian Constitution ?
(A) Union list

(B) State list

(C) National list

(D) Concurrent list

Who said, ‘Head of the government
and Head of the state are twin
brothers ?’

(A) Kabir

(B) Barani

(C) Swami Vivekananda
(D) Periyar

Barani’s book, ‘Tarikh-i-Feroze
Shahi’, deals with which subject ?

(A) Theory of origin of state
(B) Duties of the Muslim king
(C) Advice to the Muslim king

(D) Relationship between king and
subjects

Who said that political theory as a
theory, in ideal terms, is dispassionate

and disinterested ?
(A) John Rawls
(B) Andrew Hacker
(C) George Sabine
(D) David Held

30.

31.

32.

33.
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T ShIOT e FHIERT SR
HeAd @l ?

(A) &g g

(B) TF g=I

(C) Tt =

(D) HHeId! =T

SMEATET W@ ST TS e §
0TS ARd’ 3™ U WU ?

(A) HaR

(B) SR

(C) T foeehrg

(D) URER

SRS g ARIE-T-TRISTeme’ amed
1o e <=t v el o 2

(A) TsIr=AT I THgT

(B) Hfem = e

(C) Hiem Teien feoien ween

(D) TS 70T g A=A Hae
‘TSRt fHgTd STERl Wt | )
Waﬁ%ﬁ 3l T IVt e

(A) S UeH
(B) 35 ¥
(C) Sifsl Hez
(D) efws &ee

14
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34. Who among the following used the | 34. w@rciiciteh! vl SAfFRATTHTN Tehed-=
expression ‘forced to be free’ in Teuld ST SeRew’ 8@ IS Y3
connection with the notion of liberty Fom ?
of the individual ?

(A) &4
(A) Rousseau

(B) @
(B) Locke

C) U=
(C) Green ©)
(D) Hobhouse (D) ey

35. Who among the following made the | 35. ‘UTs% & Afae o rgeiel Afas gwen
state a moral institution with a ', 3TY WIATAIUeh! hIv W 3R ?
moral end ? -

(A) 9eH
(A) Bentham

(B) Hfwaregent
(B) Machiavelli

(C) vy foa
(C) James Mill
D) J. S. Mill D) . T e

36. Who proposed that power consists in | 36. gHfesk Fdld Tl qHIfRE 3T4d, 18

collective action ? gfareT IO et ?
(A) Hannah Arendt (A) & 3R
(B) Jurgen Habermas (B) T BeRA
(C) Max Horkheimer (C) He EICEER
(D) Max Weber (D) Had R
15 [P.T.O.



37.

38.

39.

Who wrote the book ‘What is to be

Done’ ?

(A) Plekhnov

(B) Marx

(C) Stalin

(D) Lenin

Who emphasized on the role of
consciousness instead of material
forces among post-Marxist thinkers ?
(A) Antonio Gramsci

(B) Lenin

(C) George Lukas

(D) Trotsky

Who addressed the problem of why
women are oppressed in ‘The Origin

of the Family, Private Property and
the State (1884) ?

(A) Karl Deutsche
(B) Fredrick Engels
(C) Susan Moller Okin

(D) Althusser

37.

38.

39.
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[ el
T 7

‘e g5 2 &l 21’ ¢ gk it fafga
(A) =il

(B) e

(C) wfeH

(D) <

“ifereh STeRITYeT SforereAT fHehar shiore

SR Al faemeaH W feen ?
(A) sT=arell TTHe

(B) <=

(C) SISt qoprd

(D) i

‘fo ftfSm o wfael, waeee gfuet
3f~e i< W2 (1884)" a1 Jwiehd Hige™
NS0T T B 2 & THS v HSel ?

(A) el AR
(B) %ele T&ed

(C) Yo Hier 3k

(D) 2TeegzR
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40.

41.

42.

Who wrote the book ‘The Subjection

of Women’ ?

(A) Marry Wollstonecraft
(B) Hayek

(C) Iris Young

(D) J. S. Mill

Apasthamba, Gautama, Vashishta,
Baudhayana are the

Of wooeeeeaannen, )

names

(A) Ancient Republics

(B) Snataka

(C) Dharmashastras

(D) Mahayanas

Which of the following statements

is incorrect ?

(A) Dharmashastra texts were

authored by a single author
(B)

Dharmashastra texts enumerate

sources of Dharma

(C) Dharmashastra texts present
their ideas under the categories
of

Prayaschitta and others

Acara, Vyavahara,

(D) Dharmashastra are ancient law

books of Hindus

40.

41.

42.

MAR - 15223/11—C
‘g™ S® g’ ® IS (i
fafed ?
(A) A8 JALARTR
(B) T@h
(C) STd™ I
D) §. wy. fua

TN, T, YT, SGA & e
& AR ?

(A) I TR

(B) &rdeh

(C) TS

(D) #HEEM™

Wrefleieh! 3Erg faum slesen :

~ ~ N

(A) YHITES UehTe oHaH fafgel smmed

(B) wymEmed vMe Wd fove sa
TR

(C) YIS foaR Treitel Sidehiaria

NN N
fove Sl 3TMed; TR, AR,

JAEd ST 3

(D) e fégen we=e SEesr=
Tfgar med
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43.

44.

45.

Who put forth the concept of “Total

Revolution’ ?

(A) M. N. Roy

(B) B. G. Tilak

(C) Jayaprakash Narayan
(D) Dr. B. R. Ambedkar

In Ram Manohar Lohia’s
Saptakranti, which among the

following is not included ?

(A)

Revolution for equality between

men and women

(B) Revolution against racial as well
as political and economic
inequality

©)

Revolution against arms and

amunitions
(D)

Revolution against migration

In which book Mahatma Gandhi has

made a critique of modernity ?

(A) Satyagraha in South Africa
(B) My Experiments with Truth
(C) Hind Swaraj

(D) Anasaktiyoga

43.

44.

45.

MAR - 15223/11—C

YUl AT HReTT HIOT HEa! ?

(A) TH. TA. A
(B) . Sft. feesh
(C) STYhIT A0

(D) €. . 3. 3ToEh

THHAIR AfEAT=A TR qeretieh!

IV TSl FHEST Bid ATer ?

(A) S q&9 HHAES hidl

(B) difyrer 9= TsThig eTfor afifefen
faoma feiema st

(C) IS 3T <&Tiledl faeg hidl

(D) Ty fadiemd shidt

TETCHT AT ShIoTe JEIehId STy fehae]
oo wheft oe 2

(A) Tfgo eTftRendial TmIE

(B) ®I& FeA= WA

(C) feg =

(D) STAEEIART
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46. Choose the incorrect statement from | 46 wefetet @I foum e -
the following :
(A) Rabindranath Tagore was the (A) TS 2R TR HHA i
champion of Nationalism (B) SaTeiaTd 8% Udsierd Ui
(B) Jawaharlal Nehru was the
architect of Panchasheel e
(C) Ram Manohar Lohia put forth (C) THEAEY afeat =ieesn oA
the concept of Chaukhama . N
State Hdeh Y-l HisAl
(D) Dr. B. R. Ambedkar wrote the (D) ‘feg fomr=h 3=t 9 7™’ ¥ I&a®
book, ‘Rise and Fall of Hindu o N N PPSPEN
Women’ Sl. dE™led 3MaShIHl Telled
47. Match the pair using the codes given | 47. Tl gl IR FE&F IHF Sl
below : el :
List I et 1
(@) Mohammed Iqbal (@) WEHS SIHIA
(b) Jawaharlal Nehru (b) A E®
(¢0 M. K. Gandhi () TH. . TR
(d) V. D. Savarkar (d) 9. <. e
List II aret 11
(1) Discovery of India (1) femreeld =1fw gfem
(2) Mazini Charitra (2) HfgHr =i
(3) Idea of Pakistan (3) TIfhEa=l Hedl
(4) Satyagraha in South Africa (4) <fagur fiRshdid TawE
Codes : Hehdich :
(@ ®) () () (@ ®) () ()
A O 2 @ O3 A O 2 @ @
B 2 @ @ Q B @ @ @ @
©c @ 2 @O < @ 2 @O @
D 3 1 @ @ D 3 1 @ @
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48.

49.

50.

Sri Aurobindo use to write in which
newspaper ?

(A) Induprakash

(B) Karmayogi

(C) Deccan Herald

(D) Deenbandhu

In the Jayaprakash Narayan’s
concept of Sarvodaya which is the
last ‘daan’ after Bhoodan, Gramdan,

Sampattidan ?
(A) Grahadan
(B) Jeevandaan
(C) Putradaan
(D) Kanyadaan

Who among the following is the

adherent of syncretic culture ?
(A) V. D. Savarkar

(B) Deendayal Upadhyaya

(C) Kabir

(D) Muhammed Igbal

48.

49.

50.

MAR - 15223/11—C

st orfecl IV aqHTed fefgd

I|q ?

(A) STIHMI
(B) wHART

(C) Soh BeS
(D) feey

SEYRTYT TR0 I Halled Hehodd

IS, TFRH, FURGH A hI0d SH
Afua g ?

(A) TEEH
(B) SiereH

(C) gFH

(D) *ARH

EeTeTdeh! R0 Wi HEhd= qLEndi
g ?

(A) fa. T FEER

(B) ferieamer sarear

(C) sk

(D) TeHE ST
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51.

52.

Andre Gunder Frank and Marta

Fuentes have written the famous

article :

(A) Theses

Movements

Nine on Social

(B)
(©)

New Social Movements

Cyclical Movement towards the
Eternal : Nine Theses of Social

Movements—A Critique

D)
Which of the following statements

Essays on New Social Movements

are wrong ? Choose your answer

from the codes given below :

(@) Nationalism transformed

Europe in the 19th Century

Nationalism led to the formation

(b)

of new nation-states in Europe

(¢) Nationalism

fragmented

European empires

(d)

Nationalism was an intellectual

reaction to the Enlightenment
Codes :
(A) (a), (b)
(B) (), (c), (d)
(C) (a), (b), (c), (d)
(D) None wrong

51.

52.

MAR - 15223/11—C
fafecien i few -
(A) TS fordm @i Wt geatey
(B) = ORI HegHeH,

(C) THEfRIhd JegHe 2aey T geAd ¢
e Todw otk IR Jeatied—
3 fofeeh

(D) AN & < W goshe
wrefieiieT Hd R =% SR 2 TR

o

feetedn gEliqd S fHaer :

(@) TSZARH 198 I[AehId AT TR

G

(b) TZARH AU TeAT ASZ-TooA
i g&

() TegaTEHe AT JHES A

(d) TR B FereHTer e Jfsar!

widfshan gt
Hehdich :
(A) (@), ()
(B) (), (c), (d)
(C) (@), (B), (c), d)

(D) THE Tk TR
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53.

54.

Who for the first time separated the

terms ‘Civil Society’ and ‘State’ ?
(A) John Locke

(B) Thomas Hobbes

(C) G. W. F. Hegel

(D) J. J. Rousseau

the

Chronologically organise

following revolutions. Choose your

answer from the codes given below :
(@) Russian Revolution—Bolshevik
(b) French Revolution

(¢c) Chinese Revolution

(d) American Revolution

Codes :

(A) (), (@), (c), (b)

(B) (), (b), (a), (c)

C) (@), (d), (b), (c)

D) (), (), (@), (@)

53.

54.

MAR - 15223/11—C
‘T’ g AR w1 SEEY W
qard YoH HIOT e ?
(A) sS4 <l
(B) otHE Bies
(C) S =g, Th

(D) <A I &

TTed Shicdd SHIATIR AR T
HU. g2 feededn geiqa gae S
et -

(@) A T —Tesifoeh
(b) HF TSHH!

(c) Toft T=shict

(d) STHRERT TSI
Hehdich :

A) (), (a), (c), (b)
(B) @), (b), (@), (c)
©) (@), (d), (b), (c)

D) (c), (), (@), (@)
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55.

56.

57.

Which of the following factors
are not conducive to judicial
independence ?

(@) Secure tenure of Judges
(b) Separation of powers

(c) Executive intervention
(d) Legislative intervention

Choose your answer from the codes
given below :

Codes :

(A) (@), (B), (c)

(B) (), (c), (d)

(C) (@), (b)

D) (e), (d)

Which of the following is not a civil

society campaign ?

(A) LGBT Rights

(B) Save Marathi Schools

(C) Narmada Bachav

(D) Swachh Bharat

Which of the following are not the

functions of political parties ?

(A) Management of succession to
power

(B) Obtaining popular consent to
the course of public policy

(C) Nominating candidates for
elections

(D) Aggregation of the demands of
interest groups

55.

56.

57.

MAR - 15223/11—C

AN A NN o
Clldldlen] anlVld  elcen A4l

QAAE Thd ATéd ?

e feoean EIq 9ra S e .

(@) —amnediem=n ffy=a Ten wremast
(b) T fawrsH

(¢) FEFN Heor=l g™

(d) fafyreer=n &y

Hehdieh :

(A) (a), (b), (c)

(B) b), (c), (d)

C) (), (b)

D) (), (d)

ETefteten! I ST R ST
et ?

(A) TASHSN.E. TR

(B) TS WMesl ar=ral

(C) el ==

(D) &= 9d

EeTeTdeh! hIUd TSThIE 9D hTH
qMer ?
(A) IO XA Shol

(B) wraSifer O clehT=l THd!

THesaror
(C) TaSUEERE SHEAR AT 0!
(D) Teadselt Ter=an Arva Tehliehil

Exull
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58. Match the following groups in List 1

with the type of their organisation
List II :

(@)
)
(c)

(d)

(1
(2)
3)

(4)

List I
Anti-corruption movement
All India Kisan Sabha

Federation of Indian Chamber

of Commerce and Industries

(FICCID)
Green Peace

List II
Associational Interest group
Lobby

Non-associational interest

group

Pressure group

Choose the correct answer from the

codes :

Codes :

A) 3
(B) 4)
©) @
D) @)

(@) (®)
(4)
(2)
3)

(1)

(c)
(2)
(1)
(2)
3)

(d)
(1)
3)
4)
4)

MAR - 15223/11—C

o

58. et feetean It 1 |elld e o e 11

el = oAl YhR A=A SISl

AEl. AR e Gehdmhd ard 3a

IREEIRE

(@)
®)
(c)

(d)

(1)
(2)
3)
(4)

et 1

ywER o a@aes

AfEd R fmam g

HEWH h o Jord 2ATh hiAd
e ag
It 11
e feagadt e
SIE]]
S-gearee feaweEt e

] T

- -
.
.

A) 3
(B) (4)
©) @

D) (2)

(@ ) (© (@

4) 2 @

2 @ @O

3 2 @

1 G @
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59.

60.

Choose the incorrect statement from

below :

(A) American Constitution is very

rigid constitution

(B) American Constitution was

drafted at Washington

(C) American Constitution did not
provide for Judicial Review, it

was incorporated in 1808

(D) The first 10 amendments to the
US Constitution make up Bill

of Rights

Who said, “The governing class
justifies its actual exercise of power
by resting it on some universal

moral principles” ?
(A) Gabriel Almond
(B) Mosca

(C) Trueman

(D) David Easton

MAR - 15223/11—C

59. TClcush! Tehra faem sfean :

60.

(A) AR ToTee Ad asl 378

(B) 3=t Togse aifyried 39 9ar

0T 3TedT

(C) Tufthr=ar UsIoead =TATAA A

e N

AR Tqe Teedl, 1808 HEA

Al HHICERT il

SN

N N o
SHTH=AT TSIeeAd Ul 10

(D)

TCAGERIGR SFhTEl TG TS
HLTA SATAl

X

TR I, T G ST T

(a} o WY

% d=AT SAER Hid

3
ol

den  Ald

s, ® faum @ e ?
(A) TifssTa sTeHe

(B) HIEh

(©) g™

(D) Bdte $=A
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61.

62.

Which of the following statements

is not true ?

India views BRICS forum as a

platform :

(A) To promote economic growth

within the group

(B)

To develop close strategic
relations among the member

countries

(C) To address food and energy

security concerns

(D) To prevent increasing U.S.

dominance

Which of the following is not an

element of India’s ‘Act East’ Policy ?
(A) Cultural relations

(B) Nuclear co-operation

(C) Economic relations

(D) Connectivity

61.

62.

MAR - 15223/11—C

EATcTyeh! ShIod faem oRie A@r ?

fSlerd TTeThe WRA Y= YIS U
qrgdl ?

(A) T eTfieh foaenTdret =Te U
IS

(B) S SHE qUIH W& ke

TEY S SIS

(C) 3T 3707 sl GRar= gear= fa=)

IO A3

(D) 37Hft=n dTedt 9ue UEvars

IS

EeAeTeh] Il T<eh A=Al * 3fae

TR’ YRUTE Uesh AT ?
(A) HRhfas Gay

(B) aTfversh Teahrd
(C) srfdier Heshrd
(D) TAUESUGR SISl oy




63. Which of the following pairs is not

MAR - 15223/11—C

N N

a N A ~ A N A a
63. WIlcdleTYehl <RIVl SISl S NEENN

correctly matched ? e ?
Column 1 W I
(India’s Neighbouring State) (VAT TR 290
(@) China @ =
(b) Bangladesh b) ST
(¢) Myanmar )
(c) HMER
(d) Pakistan
(d) &
Column II
wWy II
(Pending Dispute)
(T georen faae)
(1) Trans-Karakoram Highway
(1) ITFA-HNHRA HEMET
(2) Teesta River Water
(2) e F<= i
(3) Exclusive Economic Zone
boundary (3) W Mfder &=l HiH
(4) Sir Creek (4) W Tt
(A) (a)1) (A) (a)—(1)
(B) ®)—~2) (B) ®)2)
(©C) (©)—3) (©) ©—3)
D) d)-4) D) d)-4)
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64. Which of the following pairs is not | 64. WIcliciish! HIVKT SET SR Je3aerel

correctly matched ? et ?

Column 1 w1
(India’s Neighbouring State) (VTRET=T IS 29T)
(@) China (@) =M
(b) Pakistan (b) TTfhET
(¢) Nepal (¢) Ui
(d) Bhutan (d) M

Column II W II
(Pending Border Dispute) (F gedon dm faere)
(1) Aksai Chin (1) 3R =
(2) Trans-Karakoram Highway (2) TE-HRGRE HEMER
(3) Kalapani Border (3) hICTATH! HrHT
(4) Arunachal Pradesh Border (4) STEUTEA YQ®l HiHl
(A) (@)—1) (A) (a)~1)
(B) ®)—(2) (B) )2
(C) (©—3) (C) (©)—3)
D) (d)—4) D) (d)—4)
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65.

66.

The “Comprehensive Economic Co-
operation Agreement” (CECA) was
signed to boost bilateral ties between
India and :

(A) Singapore

(B) Myanmar

(C) Malaysia

(D) Vietnam

Assertion (A) :

The changed global scenario after
the end of the Cold War made it

imperative for India to build up
sound relationship with the US.

Reason (R) :

Pakistan factor no more governs

India’s foreign policy.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (R) is true, but (A) is false

65.

66.

MAR - 15223/11—C

" gy i TR R’ (CECA)
B IRAM Il SIMERER el ?

(A) famgR
(B) =MR
(C) weAfrn
(D) foua™
faam= A) -

SMGT Sgeteied Sfaes TRferdHes
IRAT ST FdY FERU TR

T,

T (R) :

TRATAT R HROMER. qifehear a1

TIHET UG A il Tl

- -
-
-

(A) (A) 37T (R) Tal seR 3TTed ST
R) % (A) 3 IT9 WEH AR

~

(B) (A) Tt (R) ST sRIeR 37ed, W
(R) § (A) ¥ I TR0l el

(C) (A) SR 3118, 907 (R) & I 3R
(D) (R) SR 318, 997 (A) § I 3TQ
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67. Assertion (A) :

India-China relations are extremely

complex today.
Reason (R) :

India and China have common
interests at the WTO; their bilateral
trade has grown rapidly in the past
decade, and they also have pending
disputes over thousands of kilo-

meters of border.
Codes :

(A) (A) is true, but (R) is false

(B) Both (A) and (R) are true, but

(R) is not the correct reason

of (A)
(C) (R) is true, but (A) is false

(D) Both (A) and (R) are true and

(R) is the correct reason of (A)

MAR - 15223/11—C

faam (A) :

ST YRA-<1H FaY 3T Slfedd e

3T

%R (R)

YR 30T <=9 A= SIfaeh AR Seed

T feqdey oTRd; oAl SR

e fguefi™ =R S died 3TR;

Tfor STEHY B9 TR e = HiHee
i gaéé iaana 3:Il%a.
Hehdich :

(A) (A) IR 3118, 90T (R) B I 38

(B) (A) 1fo1 (R) T8l SR 3Ted, qUT

R) % (A) 3 Ir9 LR ATEL

(C) (R) sHIsR 3118, 907 (A) & I 318

(D) (A) 2701 (R) SI=et sRIeR STTRd ATl

(R) ® (A) ¥ 99 TOiehul 318
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68.

Choose the incorrect statement from

the following :

(A) In Indian Constitution Articles
352, 356 and 360 deal with

emergency powers

(B) American Constitution does not
expressly grant the President
powers in times of national

emergency

(C) In India emergency was
declared in the year 1975 under

Article 360

(D) In America President Roosevelt
invoked emergency during

World War II

68.

MAR - 15223/11—C

WA Sehrd faum sfiesen :

(A) YR TSTEede shet™ 352, 356,
360 aTHLN ATV fasRreh aRgel
e

(B) STHEH=AT TSTEEH TS SIS
FIBT TSEALA T SRR

feorer e

(C) YA 1975 Tl o™ 360 TdTd

SISO @] ShL0ATd STl Bidl

(D) TH-A1 HEHSTAT Fleold THR
TeTEAe] TEEee AT AU SfeR

69. The concept of ‘Circulation of elites’ | g9. ‘etfyrsa mETor’ & Hehoqar
has been used by : RIERC IS
(A) Gaetano Mosca (A) TeEFl AR
(B) Vilfredo Pareto (B) faehel T
(C) Robert Michels (C) T2 a9
(D) Max Weber (D) WaT o=
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70. Which among the following is an

71.

incorrect statment ?

(A) Liberalization does not always

lead to democratic transition

(B) Democracies must meet three
basic procedural criteria :
competitive elections, adult

citizenship and minority rights

(C) According to O’Donnell there

are two transitions : a transition
to democracy and transition to

a consolidated democracy

(D) All democracies emerged after
second world war have transited
from democracy to consolidated

democracy

Collective security measures were
first applied by the UN in 1950.
Against which country were they
applied ?

(A) Cuba

(B) North Korea

(C) Vietnam

(D) Egypt

MAR - 15223/11—C

70. WieiUsh! 3EFg fauq sfeswn .

71.

(A) STIHRIMS AgHE ANFHIME
GHAT B AR

(B) THIMEIME gl AT AfcharcHh
R qoi HTe AN ¢ T
FE=0

(C) 3TSHeT= Hd 9 TehR=l HehH0l

AHAId : AhYMEHES HehHUT ST

qqe AhTMRIhe HohAT

(D) THA HEFISHMR ATl SAeied ¥el
TARIET e YG& TAhICIHE
THAU T 3T

T AT 1950 7Y Aigeael Afes
AT TG AT T IO STMaeS
el Bt ?

(A) =T

(B) W Il
(C) fegud ™
(D) sfore




72. Match the following pairs using the

key given below :

Column 1

(International Organization)

(@)
b)

(c)

(d)

(1)
(2)
3)
(4)

Universal Postal Union (UPU)

United Nations World Tourism
Organisation (UNWTO)

Fund

Development

International for

Agricultural
(IFAD)

International Civil Aviation
Organisation (ICAO)

Column II
(Headquarters)
Montreal
Rome
Madrid

Bern

Codes :

(A) (2)
B) 3
C) @
D) 3)

(@) (&)
3)
(1)
3)

4)

(c)
(1)
(4)
(2)
(1)

(d)
(4)
(2)
(1)
(2)

MAR - 15223/11—C

a

72. WAl

o N e} N N
[Qadcdl =l AlHea dlid siisl

el :

(@)
®)

(c)
(d)

(1)
2)
3)
(4)

wy 1
(MAWTE o)

SIATfaer 2aTed Ee1 (UPU)

T TS SIATfaeh Tied Heel
(UNWTO)

AL Foit faeswrd et (IFAD)

STAR T AR IESAT Tl
(ICAO)

et 10
(TEATe)

ﬂ,%ﬁ”?

-
-
X3

A) (2
(B) 3
C) @
D) 3)

(@ (®)
3)
(1)
3)

4)

(c)
(1)
(4)
(2)
(1)

(d)
4)
(2)
(1)
(2)
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73.

74.

75.

Who builds on Kenneth Waltz’s
argument concerning the stability of
bipolar system as compared to

multipolar system ?

(A) Stanley Hoffmann

(B) Charles Kindelberger

(C) John Mearsheimer

(D) John Gaddis

When did the WTO come into
is its

existence and where

headquarters ?
(A) In 1995, Washington D.C.
(B) In 1993, Vienna
(C) In 1993, Seattle
(D) In 1995, Geneva

The Nuclear Suppliers’ Group (NSG)

was formed in the year :
(A) 1972
(B) 1977
(C) 1974

(D) 1969

MAR - 15223/11—C

73. Tgydta e Sgyda =l gad

74.

75.

sifen feeR 3T 9d, a1 Sy eyl AT

AISUiien ge 3 faan fowr wrefierte]

N o cN
ShIUTT TIERAd hell 7

(A) B TRAH

(B) Icd fohedeat
(C) S AR
(D) A Tifew

SR SATIR FeeAT Shegl 3TRdcrd STl

o foa geae™ #ig g ?
(A) 1995 T&Y, Sifyres .
(B) 1993 7&d, fu—n

(C) 1993 ued, faued
(D) 1995 TeA, fNIfqar

3fogeh qRASRR el e (NSG) et
JaffeaTd 3fren ?

(A) 1972

(B) 1977

(C) 1974

(D) 1969

34



76.

77.

78.

Which of the following countries
is not a member of Shanghai

Co-operation Organisation ?
(A) China

(B) India

(C) Tajikistan

(D) Iran

Who has written the book “The Cold
War : Retrospect and Prospect” ?

(A) Lewkowicz Nicolas

(B) Hopkins Michael

(C) Frederick Schuman

(D) Bronson Rachel

Assertion (A) :

The Arctic sea route remains open

for navigation for more number of
days a year since last few years.

Reason (R) :

The ice on the Arctic is melting more
due to climate change.

Codes :

(A) Both (A) and (R) are true, and

(R) is the cause of (A)

Both (A) and (R) are true, but
(R) is not the cause of (A)

(B)

(©)
(D)

Both (A) and (R) are not true
(R) is true, but (A) is not true

76.

77.

78.

MAR - 15223/TI—C
ETATAdeh! Il ST STERT gk
HEeAdl 9UNE @l ?
(A) =M
(B) wa
(C) dfSIfer&™
(D) ¥
“T plee an : IR st yrdee "’
T gk won fafed e 2

~

(A) “geifoa Fhie™

~

(B) ®Ufhd Hehdl

(C) wefleh A

(D) ST =

faam ()

ANl hTal auiagA Sfifede | A
eI Tfeh feow Fe TRl

T (R) :

TR VTS el SMoeshaiicl 9t S
TG fadesd ST

Hehdieh :
(A) (A) 37T (R) S8t SR 3T, ST
(R) & (A) ¥ SRU 3%

(B) (A) 7fu1 (R) Tt sI&IX 3TTed, I
(R) T (A) ¥ HRU &

(C) (A) 3T (R) TI=l sRIsR A&l
(D) (R) =R 38, TUT (A) SR &l
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79.

80.

81.

Where is the headquarters of

SAARC ?

(A) New Delhi
(B) Kathmandu
(C) Thimpu
(D) Colombo

Democratic Peace Theory is placed
under which theoretical approach of

International Relations ?
(A) Structural Realism

(B) Classical Realism

(C) Idealism

(D) Institutional Liberalism

Which tool is used to measure NGOs

social and ethical performance ?
(A) Green Audit

(B) Economic Audit

(C) Gender Audit

(D) Social Audit

79.

80.

81.

MAR - 15223/11—C

qrehd &I ®ie R ?
(A) i T

(B) whroHTg,

(C) fug

(D) hicAs

~ faY N o . . faY
CllenRllel RMTAa=] IHGId  HATAKRES A

TELTA HIVAT ghehHASTda Idr ?

(A) TEATHS: IRdade
(B) =1fyia arcaere
(C) 3TeERiarE

(D) TEATHE SERHATAE

TASHel (NGO) =1 |ifsies o Afdeh

[aaY

SRR
e ?
(A) BR@ 3feher
(B) 7Y sfeherm
(C) fomama s
(D) IR STeh e

TSI Sh{0gT™ ShIUd |8
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82.

83.

What mechanism is not used for good

governance ?

(A) Jansunwai

(B) Citizens charter

(C) Ombudsman

(D) Grievances redress system

What are the objectives of monitoring

and evaluation of public policy ?

(@)

The assess whether policies are

over or under performing

(b)

To assess whether are working

as planned

(c)

To assess whether the target is

achieved
Codes :
(A) (a) and (b)
(B) (a), (b) and (c)
(C) (b) and (c)
(D) (a) and (c)

82.

83.

MAR - 15223/11—C

Y-IMFHRIAES HI T IO Sa
e ?

(A) ST

(B) AMTR&RT=N §g

(C) siiegeamd

(D) TR fHaror o

qIeSIeh GRUTAT @RE 9 Jedh
% e TR ?

(@) 4=l SEAR SAfues fmar &t
e fop -t § qurEol

(b) RO FESATER ®ERd 3Ted 6
TR & qTEo

() =93 = gen fob A € qure
Hehdich :

(A) (@) 0T (b)

(B) (@), (b) A (c)

(C) (b) 3 (c)

D) (a) T (c)

84. Which among the following is not 84. Tl UG UNDP=1 J1Refd T
included in UNDP’s sustainable S GHIESE A& ?
development goals ? (A) o e
(A) Quality education
(B) <iEa FeeA
(B) Poverty eradication 0
(C) Traditional energy sources © il
(D) Gender equality (D) fefmens Far
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85.

86.

The origin of good governance is

traced to the seminal work of :
(A) Alexis de Tocqueville

(B) Thomas Paine

(C) Robert Putnam

(D) Larry Diamond

The origin of contemporary
resurgence of interest in good
governance is credited to the

publication of :

(A) Governance and Development,

1992

(B) Governance without
Government : Order and Change

in the World Politics, 1992

(C) Making Democracy Work : Civic

Tradition in Modern Italy, 1993

(D) Developing Democracy

Towards Consolidation, 1999

85.

86.

MAR - 15223/11—C

Y-URMTThd=Al 3§ hIV=Al IR

EARIGER IS |
(A) 3fcr 2 <feafda
(B) ommE U
(C) T2 geiH

(D) < SEHTS

Y-YUMTHRAd HHRTATT  GAGCTATAT

W 3 99

feet =

(A) TRTH 3Mve SRATHZ, 1992

(B) T foemee T ¢ 31l 3fvg
= 31 T doe difaiiead, 1992
(C) AferT SHiwRd o= : fafaw M

3T Hied 32, 1993

D) SEATT SHHH! : TTSH FHTHITH,

1999
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87. Essence of ‘Good Governance’ lies

88.

in :

(A)

(B)

(C)

(D)

Strengthening the public sector
by infusing more capital to keep
it growing

of

Stringent application

POSDCORB principles

Development of social capital
and networking with societal

organisations

Renewed energizing of

bureaucracy

Which aspect of good governance

is critically reviewed by many

commentators ?

(A)

(B)

(C)

(D)

Social capital

Aid-giving precondition

Civil participation
Participative decentralized

governance

88.

(B)

(&)

(D)

MAR - 15223/11—C

3TfYe IEad T[ded e &

FoohhIU THEd Ad JGTd Bl

20

POSDCORB d<di=l %<

AN

g siedd fawg  srfor

TSR TS9N A2aeh

fIeheEl qASiiad ol

G-I ShiVTe UeTel 3T HTSIehTOT

fafecas wiem s R ?

(A)

(B)

(&)

(D)

ISR Wi

qIERA QUATAT Ja-37el
TR HEWH

Teur fasnfsd wemdehar
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89.

90.

91.

Which one of the following is
historically a basic mechanism of

accountability ?

(A) Citizens’ charter

(B) Ombudsman system

(C) New Public Management

(D) Entrepreneurial management

Which scheme was launched to
provide healthcare facilities to over

10 crore families ?

(A) Pradhanmantri Jan Arogya

Yojana
(B) Ayushman Bharat
(C) Sukanya Samriddhi Yojana

(D) Pradhanmantri Jeevan dJyoti

Bima Yojana

The science of control and

communication is known as :
(A) Informatics

(B) Hermeneutics

(C) Logistics

(D) Cybernetics

MAR - 15223/11—C

89. IIMI@ RGN Teierden!

HIA qAYd T AR ?

(A) AR T e

(B) SAfeqsa™ =Tae

(C) T Ik AT

(D) SIS FaETIH

90. TT HIEIEd AHE: HIAM AXTIHE]

gfaar gfauamErel sIver S n]
el ?

(A) JUHEEST SF SR IS

(B) 3TN 9Rd

(C) o= |ggr A

(D) FETHET Se St STHET DS

91. fEaw onfr wg== = IMEATEN

................... 34@- w’
(A) W&
(B) 2Fedfqoiq s

(C) THSIMHA

(D) HeYERT IME
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92. Who among the following scholars | 92. ®Tiicddeh! HITHT STSATHHRTT Tl
did not advocate the concept of New ARIIMHATET LRI shedl e ?
Public Administration ? @A) = -

(A) Dwight Waldo .
(B) % AfE
(B) Frank Marini
e Tk
(C) Peter Self © ¢
(D) Fredrickson (D) Wl

93. Give the correct answer by using the | 93. TITciidl Hehdier@l I HET AT IW
codes given below : foren
Assertion (A) : faam= A) :

There is no any marked difference qﬁaﬁgﬁ T 3:|Tﬁr[ @wﬂ' I I1d
between public and private FAE SHH T FE AR
administration.
0T (R) :
Reason (R) : )
QI SHAR/HRUR. FHM T TdR
Both are conducted according to the >
same principles.
Tehdiah :
Codes :
s o
(A) Both (A) and (R) are true and (&) (&) ®)% :;6' fOchqul jl{]q{
(R) is the correct explanation T ®) & (A) = SR TR
of (A) e
(B) Both (A) and (R) are true but (B) (A) ST (R) & AT SR ST
(R) is not correct explanation T (R) € (A) o AT TR
of (A) T
(C) (A) is true but (R) is false (C) (A) s 378 901 (R) § 9% TR
(D) (A) is false but (R) is true (D) (A) I T8 901 (R) T R 3T
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94. The concept and program of Citizens’

95.

Charter was first initiated and

launched in :

(A) UK

(B) USA

(C) Sweden

(D) Canada

Genesis of Public Administration

lies in its objective of :

(A)

Management of government’s

business

(B) Making distinction between
‘political’ and ‘administrative’
activity in public organization
©)

Making distinction between

public and private administration

(D) POSDCORB

MAR - 15223/11—C

94, ATftRT=t g€ a1 Hahoqddr STy

FHEGAET JUH gEaW ST STHA-

(A) g.%.
(B) .TET.
(C) @A

(D) A<l

95. TRYMEAN Hed =l Yeld e

AR :

(A) TTEHE HAE ZEEAIA

(B) grasifae H¥IdA ‘USREa’ 9

‘TR’ HTEHES Tl hi0l

(OE:ESIEERERCISUIR HIGE e R TED

ETU|

(D) POSDCORB
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96. Match List I (Theorists) with List IT

(Arguments) and select the correct

answer from the codes :

(a)
(®)
(c)
(d)

(1)

(2)

List I
(Theorists)
Evan S. Banki
E. N. Gladden
Henri Fayol
W. F. Willoughby
List 1I
(Arguments)

The true realm of Public
Administration is to be found in
the administrative sectors of
government which conduct
management of public affairs

Administration must not be
confused with government. It is
only one of its functions.

(3) In its broadest sense it denotes
the work involved in the actual
conduct of government affairs

(4) Administration means
performance of executive
function of the state

Codes :

(@ b)) (@ (@

A 1) @ Q) (2

B @ @O @2 3

© 3 2 @ @

M 2 & 1) @

MAR - 15223/11—C

96. Il I (fa=amea) suftn act 11 (Fferar)

AT Sied] STl ST FehdlehTHYA A
I e .

(@)
)
(c)
d)

(1)

2)

3)

(4)

et 1

(feremaa)
A TH. Sl
3. T Tored
FRURCIRI]

rer 11

(Fferas)
RTINS B &5 IHAT=A
TRTEhTT & 3TE S Arasl-eh
T HTEAIT .
IMEF & YEA AT Toeld il
S TI. TREA T VA o

TH HE IR

& A ATRIIMET  ITHAT
Hd FHRINHE TAMGSE STHAT
EESERCIRIE IR B TG

JIMET TS USAT=AT R hT
AT STHASSIEUT BT,

- -
-
-

A D
(B) 4)
€ 3
D) (@)

(@) (b)
(4)
(1)
(2)

3)

(c)
3)
(2)
(4)
(1)

(d)
(2)
3)
(1)
4)
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97. Give the correct answer by using the

97. el feeiedn =G 9rd W fHerer .

codes given below :

fagam A) :
Assertion (A) :

1 B 3%9‘[ TR
The chief Objective of Public Alen A= AHe AN Ren(Hl Hes

S LN N
Administration is to provide easy Ifor STEfEd J U FHI0 7 AR

and hassle-free access of its services
T (R) ¢

to the citizens.

IR AN o Y9I A=A U
Reason (R) :

NN

GUeh 3THA X A=A dehTie fHemom

Citizens’ grievances can be easily

redressed if there is face to face TES BS Y.
contact between citizens and el
administration.
(A) (A) 271 (R) ® 81 =901 sRIeR
Codes :

3T (R) T (A) < TSR SIS
(A) Both (A) and (R) are individually

true and (R) is the correct e

explanation of (A) (B) (A) 27 (R) & Ta=a0 sRIeR 27ed
(B) Both (A) and (R) are individually T (R) ® (A) 9 I TR0

correct, but (R) is not the correct —t

explanation of (A)

C) (A) IR a7foT (R
(C) (A) is true and (R) is false ©) @) e (R) < 3Te

(D) (A) is false and (R) is true (D) (A) T 3R 07 (R) & s 378
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98. Public Administration has evolved
through various stages. Arrange the

following stages chronologically :

(1) Principles Approach

(2) Public Policy Approach

(3) Administrative Behaviour

Approach

(4) Politics-Administration

Dichotomy

(5) Ecological Approach

Codes :

A @ @©® 6 @ @

B @ @©® @ @ 6

© @ @® @ G @

M @ @ 6 @O 3

MAR - 15223/11—C

N faY AN N d ~
98. ARIEATET Il STeTesl TUATGER

El TR, Teid T STIHAM Al ¢

(1) o= giesd

(2) WESe URU gieshd

(3) WRMEHE oIamal geeehd

(4) TSHI-TIMEA 58

(5) RgEIERT gfteen

- -
-
-

A @ @ G 3

B @ @O @) @

C© @ @ @ 6

D) @ @ 6 Q)

(2)

5)

2)

3)
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99. Match List I (Thinkers) with List II
(Definitions) and select the correct
answer from the codes :

(@)
)
(c)
(d)

(1)

(2)

3)

List I
(Thinkers)
F. M. Marx
L. D. White
D. E. Marshall
J. M. Pfiffner
List II
(Definitions)

Public Administration consists
of all those operations having
for their purpose the fulfilment
or enforcement of public policy.

Administration is a determined
action taken in pursuit of a
conscious purpose.

Administration is the
organization and direction of
human material resources to

achieve desired ends.

(4) Public Administration is the
fulfilment or enforcement of
public policy as declared by the
competent authorities.

Codes :

(@ b)) © @

A @ 2 G @

B 2 O @ O

© 1 @ G @

D 3 @O 2 @

MAR - 15223/11—C

99. =t I (fommaa) sufor 9t 1T (=)
I AT Hes T @eiiel Hehdrehid
IR FEA Irg W HaeT

(@)
)
(c)
d)

(1)

(2)

3)

rer 1
(feremeaia)
TR T AR
. Bl =®Ee
<. 3. Tl
. T fRER
et 11
(=areE)
TR IRTEAT 3T9T | hall o =l

THEYT Al STal, SArEl SVl
st eizon=t gdar fear
STATSTEUN IO BT ST
SToferqdeh T UTTETel Shetett
Teh T=a Sl ST TSl TR
T

STuferd SfEser=a WIEe! shatd
et a9 Aifqe GaeH 9ued o
v =S weEE B .

(4) & ST STER Soied
WS ARITET 8.

i
(@ b)) © @

A @ @ B3 @

B) 2 1 @ O3

€6 1 @ G @

D) B3 1) 2 @
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100. Give the correct answer by using the

codes given below :
Assertion (A) :

Government administration differs
from all other administrative work

by virtue of its public nature.
Reason (R) :

Private administration does not
have any great responsibility

towards the public.
Codes :

(A) Both (A) and (R) are individually
true and (R) is the correct

explanation of (A)

(B) Both (A) and (R) are individually
correct, but (R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAR - 15223/11—C

100. WA HehdlehM=l TR hEed AT I

aer
fagm™ A) :

MR G SO JRIEATIRA =1

qESeh el hHA GO

EUCECE

%uT (R) :

TSI FRTEATE @RIyl Hid! STereRi]
T

Hehdich :

(A) (A) @or (R) & St T ol s

3 (R) ® (A) A SREX TIRIHIT
3T

(B) (A) 3f1 (R) § Sal S0l sRIeR
37Rd 91 (R) ¥ (A) = I TR0
RIS

(C) (A) sRIR 3¢ 907 (R) B I 31

(D) (A) I T8 901 (R) T SR 3T
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ROUGH WORK
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